Soustraction Paques (B)

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: /25
39 92 102 48 48
- 33 -51 -42 -3 -21
) W n A N A N S
122 71 80 154 111
- 86 -21 -31 -85 -75
4 N 4 N 4 . 4
16 98 108 52 111
- 2 -17 - 80 -51 - 27
R R N A N A
16 106 67 155 56
-12 - 86 - 60 -78 - 54
R 4 N 4 R R
172 65 105 98 133
-85 -11 - 67 -9 - 50
N N A N A N
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Soustraction Paques (B) Réponses

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: /25
39 92 102 48 48
- 33 -51 - 42 -3 -21
6 41 60 45 27

\ Y \ Y \ Y \ ¥ \ Y
122 71 80 154 111
- 86 -21 -31 -85 -75
36 50 49 69 36

) /: 0, 4‘ ) 4‘ N fj N /:
16 98 108 52 111
- 2 -17 - 80 -51 - 27
14 81 28 1 84

RN . . N L X
16 106 67 155 56
-12 - 86 - 60 -78 - 54
4 20 7 77 2

. L ¥ L ¥ L ¥ .
172 65 105 98 133
- 85 - 11 - 67 -9 - 50
87 54 38 89 83

X . - N X
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